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Note :  Answers may be written either in English or in H1nd1 but the same medium should be
used throughout the paper. -
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Ail ‘questions carry equal marks.
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l. | (@) What is saving function ? Given a linear sa;{ing ﬁnction, what is the effect of a decrease

1n MPS on the equilibrium level of income ? Explain with the help of suitable
diagram. 10
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From the foilowing saving _fun&ion L |

S=—»50+O.25Y.
() Calcﬁlaﬁe the value Qf mulﬁplier;
(ii) What will be the corresponding consdmption 'fun'(;,tion ? 5
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Gi_ven the following :

Consumption. (C) = 60 +.0.6 Y,
Govémment expenditure G) = Rs. 100 Cr.
.Invest'ment @ =

Rs. 500 Cr.

‘Taxes (T) = Rs. 40 Cr.



Exports (X)

Imports M)
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Rs. '20 Cr.

Rs. 40 + 0.1 (Y -T)

Find :

(a)

®)
©

@

(@

Equilibrium level Qf income (Y)
Equilibrium level of consuinptiop
Equilibrium leYel of savings
Disposable Income

Net exports - 10
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3w e C =60 + 0.6 Y

T o G- Rs. 100 Cr

R = Rs. 500 Cr.

- T=Rs 40Cr.

ﬁ?ﬁﬂ X'=Rs. 20 Cr.

IR M = Rs. 40 + 0.1 (Y - T)

P.T.O.



(b)

(@)

( 4 ) . 5688
(30) T M F A TR

(%) Sl W ®R

() 999 ® G W)

(a)uztha#m

() s R

What is net export function ? Explain the reasons why is it negatively related to the level

of GDP. Explain briefly why net export function shifts. | | 5
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Define Aggregatev demand. Explain the derivation of aggregate demand curve with the

* help of aggregate expenditure curve. _ 8
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(b) Examine the effect of aggrégate demand shocks on the real GDP and price level in the
shorf run when theAggregate.Supply Curve is :
(i) - Horizontal
(iz‘) Vertical 7 -
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4, Staﬁing the economy below potential'levei :
(a) Explain how the economy will eventtial_ly adjust back to pofential 'leveli. ‘

) Explain(how fiscal policy could help the ecbnomy to return to the pbtential
| level. : _ B 7
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5. Critically examine the Irving Fisher’s Quantity Theory -of Money. 15

3TF?=PT frem & g‘s\’l qﬁﬁrﬂr fag@ =t wc‘rﬁdd‘ld—l&z ”écn{sql ch“n“\ﬂqlv
6 How do commergia_l banks creat.ev credit ? ‘)er.latv are tﬁg- limitaiions o.n the credit
creating .cépaci“'[y‘ of commercial~ banks ? 15
T # ﬁ-@ﬂﬁ.wfw § 2
7.  Explain derivation of .IS cUrQe with suitable diagrams. Show how -_‘t_hé shifts in the IS
~curve gffects rate of intereSf and real GDP. Exblain the féctors ﬁffégting ‘the siope of
IS curve. 15

R W W W s o A R e W e s

4 fogeE, =9 a4 Hcloﬁv‘bl}\cl_ SR W W TR gl k2o
¥ 2 s 9 B owaM @ gufa I aw wRE H e

I



(7)) 5688

8. - Write,shor’t‘n.otes on any two of the folloWing : T/a+TY2

(a) - Long run aggregate sﬁpply cgr{}e;

(b) .Specula‘t‘ivc‘a demaﬁd for money;

(©) Cpmpo_nepts of monéy supply.
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